tq := time(0)

prad = 10~ % rad mrad = 10" ° rad pm = 10™ °m nm =10 "m
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Tout := —40R Tout.surf == —39.850 R Tinsurf .= —37.15000R  T;, := —36.70000R
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10 _Z(Tin - Tin.surf) = T(Tin.surf - Tout.surf)
m K
k W . -37.15000
T(Tin.surf - Tout.surf) =30 _(Tout.surf - Tout) Find (Tin.surf > Tin) = 36.70000 R
m K o
W w k w
flux := 30 _Z(Tout.surf - Tout) = 2.500 _2 T(Tin.surf - Tout.surf) = 2.500 _2
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Tout = —40R Toutsurf == —37.000 R Tinsurf = 17.00000R Tin = 26.00000R

Given
w k
10 _2(Tin - Tin.surf) = T(Tin.surf - Tout.surf)
m K
k W . 17.00000
_(Tin.surf - Tout.surf) =30 _(Tout.surf - Tout) Find (Tin.surf > Tin) = R
I m2K 26.00000
W w k w
flux:= 30 _Z(Tout.surf - Tout) = 50-000_2 T(Tin.surf - Tout.surf) = 50-000_2
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+ Tout = —37.000R flux-(50ft) = 11612.9W
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